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Question: PPP t210d B,

A Push Pull Plan
B Parent Partnership Program
C Public Private Partnership

D People Private Partnership
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Question: TUDCO gelld B,

A Haryana Urban Development Corporation

B Housing in Urban Delhi and Community Development

C Housing and Urban Development Corporation

D Housing for Urban Dwellors and Community Organization
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Question: Averaged near-surface temperature profile of Adelaide measured between 26 July and 15 August 2013.
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Since the conflict began less than a week ago. more than 6.00.000 people have fled
Ukraine and millions more are displaced inside the country, UNHCR estimates that
more than four million people could flee Ukraine and seek protection and support
across the region. The interagency Regional Refugee Response Plan is driven by
four key, objectives: support host countries are able to provide timely and life-
saving humanitarian assistance for refugees and third country nationals: facilitate a
whole-of-society approach for solutions: ensure effective coordination among
partners at the country and regional level,
Question; What is UNHCR stands for in this paragraph?

A United Nations Higher Commuittee for Residents
B United Nations Higher Commission for Region
C United Nations High Commissioner for Refugees

D United Nations Higher Committee for Refugees
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Since the conflict began less than a week ago, more than 6.00.000 people have fled
Ukraine and millions more are displaced inside the country, UNHCR estimates that
more than four million people could flee Ukraine and seck protection and support
across the region. The interagency Regional Refugee Response Plan is driven by
four key, objectives: support host countries are able to provide timely and life-
saving humanitarian assistance for refugees and third country nationals: facilitate a
whole-of-society approach for solutions: ensure effective coordination among
partners at the country and regional level,
What do you understand from the paragraph about conflicts between Ukraine of

Question:

A Romania



B Germany

C Russia

D NATO
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